NUMERICS

Antiproton inferaction with nuclei
IN INCL (data comparison)

Demid Zharenov December 2022



Types of data

* Qutgoing particle spectra

* Residual nuclei spectra
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dM/dE (1/[MeV antiproton])
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U238 INCL
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U238(608MeV/c)

[ ! *“*‘L,.I o ! I
] .. 238 + oy -
10 piU-m X g N U-ptX -
;; 8 A ] ' u
O o e
2 ]
~.
Q . = -~
£ e
~ . 1 TR . |
? ,J._ - F,
: r - | I% i
1 | | | S A S N | R N N 1 T

PN
OI

0 200 400 600 800 200 400 600 800 1000 1200



dM/dE (1/[MeV antiproton])
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dM/dE [MeV™" per antiproton]
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dM/dE [MeV™" per antiproton]
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C12(608MeV/c)
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$i28(608MeV/c)
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Nuclei/1000 p
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Conclusion

« Lack of nucleon production(esp. neutrons)

« This lack increases towards lighter targets
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